
 

 

Answer on Questions #47268 – Math – Calculus  

𝑦 = (𝑥 +
1

𝑥
)(𝑥2 −

1

𝑥2
)  differentiate w.r.t x 

 

Solution: 

𝑦 = 𝑥3 −
1

𝑥
+ 𝑥 −

1

𝑥3
 

                                            We use the facts that   (𝑥𝑛)′ = 𝑛𝑥𝑛−1 and  

                                            (𝑓 + 𝑔)′(𝑥) = 𝑓′(𝑥) + 𝑔′(𝑥) 

                                            (𝑓 − 𝑔)′(𝑥) = 𝑓′(𝑥) − 𝑔′(𝑥) 

                                          Apply them to 𝑦 : 

𝑦′(𝑥) = 3𝑥2 +
1

𝑥2
+ 1 +

3

𝑥4
 

                         Answer:  

𝑦′(𝑥) = 3𝑥2 +
1

𝑥2
+ 1 +

3

𝑥4
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